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YO OIR

YO VENIR

YO SALIR

TU VENIR

TU TRAER

TU CAERSE

USTED DECIR

USTED SALIR

USTEDES OIR

USTEDES TENER

USTEDES PONER
VOSOTROS PONER
NOSOTROS TRAER
NOSOTROS DECIR
USTEDES CAERSE
NOSOTROS VENIR

« 4 -0 unIxIrOoOmoO—>» 20V H4—4I0O0

W >PO0OC>TZ000>rPMZZ00nMmzZzMm>X>OMmw

OO XIro-d4mzm-—-—-wmw4HdzzITzm?2Z

S Mz rr Qo -—-—0omunmnom=zm— =2z m

- > M0 0N 40 T EO®EI®®ZZZCaam?Z

O P D X N
I VT T A
Z MR MM
N AWOE
E E S E A
XY T J O
G O0J s
G GS G E
N I C B N
E DA I E
C UEC I
Il B I HYV
D ASSA
S K i LA
DL ENE
AS I CE
N L SLY
V CEB YV
CESSDO
C E DD E
YO DECIR

TU OIR

YO TRAER

TU TENER

YO CAERSE
USTED OIR
USTED PONER
USTED VENIR

USTEDES SALIR
USTEDES DECIR
USTEDES VENIR
VOSOTROS SALIR
NOSOTROS TENER
VOSOTROS VENIR
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YO PONER

YO TENER

TU SALIR

TU PONER

TU DECIR

USTED TENER
USTED TRAER
USTED CAERSE
USTEDES TRAER
VOSOTROS OIR
NOSOTROS OIR
VOSOTROS DECIR
VOSOTROS TENER
NOSOTROS SALIR
VOSOTROS TRAER
VOSOTROS CAERSE
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